OrMJIZHIS

mlm

oJ

K

HO
00
80

RO

nl
K

(2 9% A)

2021. 07

I+ R0
o 7

ENI
10
Th

<l

I or



¢ A HNYRAY SN2 MAAFSFE UM (=

A|
[

=]

1.1 HEel by

® = - |
oo 2 o
30 iloJ = [ —
= R W <0 =
. I = O =
) s ~ HJ o Mm m._m
_ = - =] °
= o = w._nz _L_mo o D
K0 |..A| M ™ B0 E _||,.||. <k
L N R ik ?
K & 2 : ot = _ Al
<~ - K =T Ar = |m 9 N
R ol < | B g = D
= = 0 . K ol 2 » =
W oo 3 = 13w "o
R oo m o2 51| % o o 3
< ﬂnw H_.__\ B = il o] 3 _ ol
30 : Ho = 2 = = %0 _uo =
o= R 0 = K 5 W 0w
SR L . 35 x ol w
5 o R =< R 2 5 o
ok o © ~ . R0 g o ok
H I = ® N m T 0O A 1o
s n .__mo L 3 - — o N ey
=N W ~ o & 0 g '
Ql RO =) 0 g ~ g _
= _.:._ = 10 0 2 FO J|J 0K 0 = &0 <
. < — U, — . - |
- ol ke 50 - <F R I Y
B R g 0 ) _ o o0 X = R
® o ol w2 - S L L R Ben S|
coow DU o T B ~ W o o =
R D= S (I i - ) Com @@ Koo
5 = ok 5 ol | = M A or W ® X X
5 x5 © = e = 2 ~ ool W R = = X
° K L 3 o = m @ 80 - o
s} = 00 = - — - D = © m 0 H
eow = 8 oW = = | g R 0w R s g g X
Tow oMo ow R o Wi g © H @ W s om s O
= o = Z 0 N AV (S o m T
w L w o ow = ok T i) c L
b 0 A U o5 - g © o =
W = R = I = 5 R & R S
ulil - - 00 = — 2 v R0 S o A0 " =
= - s N 1l W ™ ™ oll | o N N ar =
+ B 0N of < ) ST ROROR
= mw  #® @ o7 R 0 o I
T &) o] RO 00 o —
ol Lo of S LR Lo
R R 6 ol IH 2 _ © © . : .
= _.._A.o 5l ﬁ H_.Jﬂro w0 A ol W.zm ok L Q) N~ 00 [es} ©
A T T S e m o 9 g 9
z) Roa L || oo =2 8§ & § ¥ § ¥
1 v [ ™ ° ° ° ° ° ° o




¢ A HNYRAY SN2 MAAFSFE UM (=

=

1.4 =2 WE

ok

o

100.22km

Zh

%

Ct.

RO

5
ol
0
D
<+

OF. HES LHE

o0
)

<
al

i}

Kl
110

1-2>

<H

— — N
IR E 2 S o S 2 2 @ ~ g
B > w @ 6 =) o o o S 3
— <
woe | & | 8 | 8| g |8 || |8]8]|%
kB < - = 5 ~ Q2 = © N ™ 3
— o0} — <] ©
8RN S > N < N S 3 & >3
X .
Ok 8) = > & ® 8 © 8 2 o o @
RO\ MCROO| MCRO | MCRO | RROO| MR | RRO | RR0 | MR | MR
L B B B = S B A= S B S B B
0 oD zl oD = oD = oD z iol = oD = iol = oD = iol = oD
70 0 0 w0 X0 z £ 70 X0
W il ] i T a1 = 4 7l
K0 0 o] o 00 0 t 0 t B B
~ ﬁ %0 0 ®) ®) = = 7 o 4o
= Ar Ar <t <t t+ s t o) e M.u_
— ()
© N bl o < 4 I o
& = | J¥ | 3% | Y | I¥ | g¥ | ;¥ | T = )
D =R R| "R | gwR | IR | 92| 9K a &
2 | TE | ¥ | @ | 5B | OB | @3 | pi
= i £ 3 oF 20 2
Wl = Ar 70 7 o a1 B I a0
~ | & ar of ol W < ) t 80 )
H 0 0 el el = = = o o
= Ar Ar <t <H + + + ] o
& 0 0 0 0 0 0 0 0 0
i5 U0 =4 = =4 = =4 = =4 = =4
7 7 ®
_| = | ) ol 5 _
= 0 7 3"
o ® ® ® ® ® ® ® ® A0 .
== 0 Ar Rl R = = =3 E ® =
Ar O 00 0 B3 E3 B3 K- o0 ol
< " 0 A0 A0 A0 A0 A0 A0 A0 A0
0 R R > R R) R R) R R)
70 0 0 0 0 0 0 0 0
0 ® & ® 7 ® 7 ® & A0
el &) Ar Rl i) = 0l Bl E ®
5 r o 0 ) z & z KE ol




MY R NTYARAY SEUENY MTYIBHIN(EY)

(25)
L
A
H
< v
AXH
<
o o HEA
g2 (5 |=
¥ |5 A
H
\ 4 v <
- > g
Eﬂﬂi
|
]
o -
H
—P
HIZH
—hl‘ =
_— = JH0kH
- | XA
| =20 suazn v (517)
<Jdg 1-1> HEUSAHAA HEGHAE DA




MY R NTYARAY SEUENY MTYIBHIN(EY)

(al®)
oot | g
HAHH
—»
2cH
al%ﬂa CLSEY
N uE BN AHH
fﬂ'ﬁﬂ iggﬂ
A [ MAIA T
Hen
E <
2 OpAL A
4
. EXA
24
|
SN <
> BIaH
ql—.l—
WA
4
0 Lo
—P>
=W
¢ MIH
—
Jua |4 ot
L |
— 2JlolH ﬂﬂg
— | uworm %
LIEEEED \ AT ul
< 1-2> HEYSIEAY HEAGE 2AE




MY R NTYARAY SEUENY MTYIBHIN(EY)

Bt HIES AE UWE

1) W A=

<H 1-4> M HE s&
HE HE(m)
ot& Yy gl
=H 25 mESk=Rely JSESR=Rel, Al
=484 1,010 5,900 - - 6,910
=HA 2,310 1,100 - - 3,410
SEA 24,344 474 - - 24,818
g=s 8,393 296 - - 8,689
MAAIA 1,772 2,981 201 - 4,954
d2d 2,634 1,986 - - 4,620
BHAN 1,579 2,392 - - 3,971
Fud 10,605 24,755 - - 35,360
A 16,515 7,205 - - 23,720
g Al 69,162 47,089 201 - 116,452
<H 1-5> otEYE MY H=E =

=83 2 =34 850 0+295 ~ 1+162 5.0 3.0 1.5 A~B

221 1,968 0+250 ~ 2+265 5.0 3.0 1.5 A~B

B2 364 1+846 ~ 2+146 5.0 3.0 1.5 A~B

23 891 5+242 ~ 6+148 5.0 2.0 0.8 A~B

22 300 5+245 ~ 5+550 5.0 2.0 0.8 A~B

254 437 6+721 ~ 7+163 5.0 2.0 0.8 A~B

28 434 5+236 ~ 7+163 5.0 2.0 0.8 A~B

=24 IH 768 7+456 ~ 8+230 4.0 2.0 0.6 A~C

224 656 7+456 ~ 8+112 4.0 2.0 0.6 A~C

2452 121 8+500 ~ 8+627 4.0 1.5 0.6 A~C

221 121 8+500 ~ 8+618 4.0 1.5 0.6 A~C




MY R NTYARAY SEUENY MTYIBHIN(EY)

H

J

= 2= 260 0+128 ~ 0+396 5.0 3.0 1.5 A~ B
2521 278 0+125 ~ 0+396 5.0 3.0 1.5 A~ B
22 183 0+470 ~ 0+650 5.0 3.0 08~15|A~B
2=23 64 2+203 ~ 2+264 5.0 3.0 0.8 A~B
2524 315 3+110 ~ 3+394 5.0 2.0 0.8 A~B
=3 679 5+113 ~ 7+777 4.0 ~ 5.0 2.0 06 ~08 | A~B
=7 174 6+213 ~ 6+390 4.0 2.0 0.6 A~ B
=% 241 6+346 ~ 6+595 4.0 2.0 0.6 A~ B
=% 375 6+691 ~ 7+083 4.0 2.0 0.6 A~ B
=2 208 6+772 ~ 6+990 4.0 2.0 0.6 A~C
=23 90 7+237 ~ 7+340 4.0 2.0 0.6 A~C
=24 292 7+374 ~ 7+686 4.0 1.5 0.6 A~C
=%t 251 7+415 ~ 7+655 4.0 1.5 0.6 A~C

2o 2 1,856 0-110 ~ 1+700 50 ~7.0 3.0 1.0 ~20 | A~ B
2d 2,065 0-110 ~ 1+974 50~ 7.0 3.0 1.0~20 | A~ B
RN 676 2+278 ~ 3+038 5.0 3.0 1.0 A~B
2d 430 2+278 ~ 2+693 5.0 3.0 1.0 A~C
=ESESK) 1,282 3+777 ~ 5+037 5.0 3.0 1.0 A~C
gd 1,637 4+574 ~ 6+194 5.0 3.0 1.0 A~C
24 453 5+259 ~ 5+680 5.0 3.0 1.0 A~C
25 2,375 6+460 ~ 8+872 5.0 3.0 1.0 A~C
a4 463 6+647 ~ 7+100 5.0 3.0 1.0 A~C
225 718 7+262 ~ 7+946 5.0 3.0 1.0 A~C
226 1,086 8+577 ~ 9+690 5.0 3.0 1.0 A~C
=ESESIS 682 9+729 ~ 10+386 5.0 3.0 1.0 A~C
2521 209 10+272 ~ 10+453 5.0 3.0 1.0 E
2 599 10+810 ~ 11+434 5.0 2.0 1.0 A~C
282 1,035 11+180 ~ 12+263 5.0 2.0 0.8 ~ 1 ~C
228 713 11+690 ~ 12+386 5.0 2.0 0.8 ~1 ~C
22 121 12+543 ~ 12+655 5.0 2.0 0.8 E
228 3,730 12+655 ~ 16+389 5.0 2.0 0.8 A~C
RN 1,050 12+713 ~ 13+792 5.0 2.0 0.8 A~C




MY R NTYARAY SEUENY MTYIBHIN(EY)

(E A=)

dee | nRe | G (o) T | aa | m | &
2ME &R0 2,718 13+978 ~ 17+490 4.0 ~ 5.0 2.0 06 ~08 | A~C
2HR9 336 16+585 ~ 16+932 4.0 ~ 5.0 2.0 06 ~08|A~C

23 52 16+937 ~ 16+986 4.0 1.5 0.6 E
2HR10 245 17+255 ~ 17+503 4.0 1.5 0.6 A~C

224 92 17+624 ~ 17+722 4.0 1.5 0.6 E
= SES RN 195 17+729 ~ 17+900 4.0 1.5 0.6 A~C
BEH HER 511 0+000 ~ 0+500 5.0 3.0 0.8 A~B
HEIH 564 0+337 ~ 04913 5.0 3.0 0.8 A~B
HESR? 355 0+830 ~ 1+183 5.0 3.0 0.8 A~ B
HEX2 414 1+111 ~ 1+532 5.0 3.0 0.8 A~B
BHER3 876 14262 ~ 2+174 5.0 3.0 0.8 A~ B

253 210 1+532 ~ 1+716 5.0 3.0 0.8 E
HEX3 232 2+010 ~ 2+311 5.0 2.0 0.8 A~ B
HER4 1,390 2+358 ~ 3+778 5.0 2.0 0.8 A~C
HEX4 1,434 2+424 ~ 3+787 5.0 2.0 0.8 A~C
HESS 617 3+880 ~ 4+517 5.0 2.0 0.8 A~C
HEM5 132 4+528 ~ 4+675 5.0 2.0 0.8 A~C
HESG6 573 4+573 ~ 5+138 4.0 ~ 5.0 2.0 06 ~08 | A~C
HEX6 477 4+855 ~ 5+378 4.0 ~ 5.0 2.0 06 ~08 | A~C

221 86 5+190 ~ 5+272 4.0 1.5 0.6 E
HEX7 343 5+442 ~ 5+754 4.0 1.5 0.6 A~C
BER7 475 5+272 ~ 5+754 4.0 1.5 0.6 A~C
M AIE e2m" 859 0-174 ~ 0+626 7.0 3.0 2.0 A~B
MAI=TE1? 1,465 0+626 ~ 2+294 7.0 3.0 2.0 A~B
MNAI=E7219 1,878 0+048 ~ 14942 7.0 3.0 2.0 A~B
221 311 4+061 ~ 4+371 5.0 3.0 1.0 A~ B
253 194 7+425 ~ 7+638 5.0 3.0 1.0 A~B
A 89 9+696 ~ 9+759 5.0 3.0 1.0 A~ B
223 158 9+934 ~ 10+067 5.0 3.0 1.0 A~B

=) TENY FAUXT GHESTTUIAY AAEH(FEES, AMNYRERLIF), o HYyH et

2) TRUD NPEP BSEHERAY AALAH(ZYS, PaAT), o HYH S (NAIFH~4X )
3) (PR XTSI BSH2RAY MALH(FRE, 2AR), o HYHLHS(HAIRI~3XT)




MY R NTYARAY SEUENY MTYIBHIN(EY)

(2 A=)
e | xwe | (No) T | #n | e | oo
Hed | B=IH 421 0+000 ~ 0+468 5.0 3.0 0.8 ~ 1 E
RN 582 0+000 ~ 0+468 5.0 3.0 0.8 ~ 1 E
HELD 480 0+637 ~ 1+128 5.0 3.0 0.8 E
HEQD 503 0+637 ~ 1+128 5.0 2.0 0.8 E
S 473 1+128 ~ 1+603 5.0 2.0 0.8 A~B
He 1 130 1+128 ~ 14275 5.0 2.0 0.8 A~B
Moo 438 14525 ~ 1+965 5.0 2.0 0.8 A~B
He X2 874 1+835 ~ 2+734 5.0 2.0 0.8 A~C
He23 95 24263 ~ 2+360 5.0 2.0 0.8 A~C
o4 155 2+413 ~ 2+578 5.0 1.5 0.8 A~C
o5 255 24961 ~ 3+215 5.0 1.5 0.8 A~C
HS X3 214 3+010 ~ 3+223 5.0 1.5 0.8 A~C
WOIA  MI=E ) 240 0+000 ~ 0+236 4.0 - 06~20|A~C
o= 258 0+000 ~ 0+258 - - 0.6 ~ 2.0 E
HEIH 1,090 0+236 ~ 1+346 - - 0.6 E
EEEN 804 0+258 ~ 1+056 - - 0.6 E
Ui OF X} 1 260 14908 ~ 2+150 4.0 3.0 0.6 A~C
B o1 1 320 14908 ~ 2+239 4.0 2.0 0.6 A~C
U OF X} 388 24234 ~ 2+631 4.0 2.0 0.6 A~C
BOI R0 141 2+435 ~ 2+580 4.0 2.0 0.6 A~C
U OF %3 61 3+097 ~ 3+142 4.0 2.0 0.6 A~C
U OF X}4 207 3+768 ~ 3+976 4.0 2.0 0.6 A~C
BOIR3 202 3+768 ~ 3+976 4.0 2.0 0.6 A~C
FDdE | 2221 2,405 0+100 ~ 2+595 5.0 2.0 1.0~2.0 A~B
HEIH 645 0+300 ~ 0+800 5.0 2.0 1.7~1.9 A~B
F=WFH 305 0+800 ~ 1+145 5.0 1:2.0 1.5~1.7 A~B
HELD 345 1+145 ~ 1+440 5.0 2.0 1.4 A~B
HEL3 1,595 14500 ~ 2+735 5.0 2.0 1.0~1.4 | A~B
SE20 125 24595 ~ 2+735 5.0 - 1.0 D
BE23 1,095 24748 ~ 3+760 5.0 2.0 1.0 A~B
SEIH4 220 24760 ~ 2+990 5.0 2.0 1.0 A~B
HEL5 1,995 3+225 ~ 5+179 5.0 2.0 1.0 A~B
224 | 1,450 3+780 ~ 5+179 5.0 2.0 1.0 A~B
= 1) 'Rz N2He SE=2AY AAIZA(=ES, 2dT)) 2 MYHEH(HAXF)




MY R NTYARAY SEUENY MTYIBHIN(EY)

H

J

dae | xve | o) (No. T | @n | m | om

Fud 225 1,295 5+179 ~ 6+454 5.0 1:2.0 1.0 A~B
S=X6 1,315 5+179 ~ 6+454 5.0 2.0 1.0 A~B
2X26 450 6+454 ~ 6+879 5.0 1:2.0 1.0 A~B
SERH7 385 6+454 ~ 6+879 5.0 2.0 1.0 A~B
=27 1,010 6+879 ~ 7+900 5.0 1:2.0 1.0 A~B
S=X8 1,010 6+879 ~ 7+900 5.0 2.0 1.0 A~B
228 830 7+900 ~ 8+740 5.0 1:2.0 1.0 A~B
S=A9 850 7+900 ~ 8+740 5.0 2.0 1.0 A~B
229 540 8+740 ~ 9+366 5.0 1:2.0 1.0 A~B
2310 470 8+740 ~ 9+190 5.0 2.0 1.0 A~B
2311 1,410 9+190 ~ 10+590 5.0 2.0 1.0 A~B
2210 1,415 9+366 ~ 10+759 5.0 1:2.0 0.8~1.0 A~B
2=312 475 10+640 ~ 11+100 5.0 - 0.8 D
=211 435 10+759 ~ 11+214 5.0 1:2.0 0.8 A~B
FuWR1 510 11+214 ~ 11+682 5.0 1:2.0 0.8 A~B
ENTEN ) 155 11+214 ~ 11+400 5.0 1:2.0 0.8 A~B
2313 590 11+400 ~ 12+000 5.0 - 0.8 D
BR212 250 11+682 ~ 12+000 5.0 1:2.0 0.8 A~B
2314 165 12+010 ~ 12+175 5.0 2.0 0.8 A~B
2315 175 12+500 ~ 12+670 5.0 2.0 0.8 A~B
FWA3 715 12+670 ~ 13+450 5.0 1:2.0 0.8 A~B
25213 330 12+770 ~ 13+067 5.0 1:2.0 0.8 A~B
25214 650 13+067 ~ 13+721 5.0 1:2.0 0.8 A~B
FUR2 460 13+721 ~ 14+180 5.0 1:2.0 0.8 A~B
T4 2,855 13+795 ~ 16+640 5.0 1:2.0 0.8 A~B
T3 1,460 14+465 ~ 15+900 5.0 1:2.0 0.8 A~B
FWR4 725 15+900 ~ 16+620 5.0 1:2.0 0.8 A~B
2=3H16 195 16+635 ~ 16+873 5.0 2.0 0.8 A~B
2E215 175 16+967 ~ 17+148 5.0 - 0.8 E
FWL5 655 17+148 ~ 17+800 5.0 1:2.0 0.8 A~B
2E216 460 17+807 ~ 18+256 4.0 1:2.0 0.4 A~B
FuWAS 425 18+000 ~ 18+409 4.0 1:2.0 0.6 A~B
FUWR6 1,250 18+256 ~ 19+500 4.0 1:2.0 0.6 A~B
FW A6 1,090 18+411 ~ 19+500 4.0 1:2.0 0.6 A~B




MY R NTYARAY SEUENY MTYIBHIN(EY)

T s

g 22 330 0+170 ~ 0+370 5.0 1:2.0 1.8 A~B
21 950 0+560 ~ 14610 5.0 1:2.0 1.1~1.7 A~B
BRH2 355 14190 ~ 14555 5.0 1:2.0 1.2~1.3 A~B
2 &I 915 1+555 ~ 2+470 5.0 1:2.0 1.0~1.1 A~B
2ER1 980 1+615 ~ 2+600 5.0 1:2.0 1.0~1.1 A~B
BEER2 1,100 2+600 ~ 3+555 5.0 1:2.0 1.0 A~B
233 310 3+045 ~ 3+480 5.0 1:2.0 1.0 A~B
=IRSES P 405 3+480 ~ 3+910 5.0 1:2.0 1.0 A~B
EHMR2 800 3+555 ~ 4+345 5.0 1:2.0 1.0 A~B
= RSESK 2,775 3+980 ~ 6+930 5.0 1:2.0 1.0 A~B
23 170 4+555 ~ 4+730 5.0 - 1.0 D
2HR3 890 4+730 ~ 5+630 5.0 1:2.0 1.0 A~B
2ER4 405 5+675 ~ 6+060 5.0 1:2.0 1.0 A~B
= RS 515 7+000 ~ 7+615 5.0 1:2.0 1.0 A~B
2 & X4 385 7+635 ~ 8+023 5.0 1:2.0 1.0 A~B
= RS 905 8+000 ~ 8+980 5.0 1:2.0 1.0 A~B
=FSENS 1,730 8+910 ~ 10+635 5.0 1:2.0 1.0 A~B
2524 355 8+980 ~ 9+300 5.0 1:2.0 1.0 A~B
A7 1,055 9+300 ~ 10+330 5.0 1:2.0 1.0 A~B
2 &8 1,310 10+330 ~ 11+640 5.0 1:2.0 1.0 A~B
2 & X6 690 10+690 ~ 11+285 5.0 1:2.0 1.0 A~B
2EM4 250 11+285 ~ 114530 5.0 - 1.0 D
2HR9 630 11+840 ~ 12+450 5.0 1:2.0 1.0 A~B
SRA5 520 12+995 ~ 12+630 5.0 - 1.0 D
BER5 450 12+450 ~ 124870 5.0 1:2.0 1.0 A~B
2=36 635 13+340 ~ 14+030 5.0 1:2.0 1.0 A~B
g &10 1,150 14+932 ~ 16+160 5.0 1:2.0 1.0 A~B
247 305 16+260 ~ 16+570 5.0 1:2.0 1.0 A~B
2E26 445 16+470 ~ 16+943 5.0 1:2.0 1.0 A~B
S=EX8 255 16+805 ~ 17+090 5.0 - 1.0 E
=RSESy 640 174100 ~ 17+797 5.0 1:2.0 1.0 A~B
27 340 18+765 ~ 19+113 5.0 1:2.0 1.0 A~B
= FSEN] 335 19+000 ~ 19+355 5.0 1:2.0 1.0 A~B
228 435 19+890 ~ 20+267 5.0 1:2.0 1.0 A~B

_10_
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MY R NTYARAY SEUENY MTYIBHIN(EY)

<E 1-7> S-ExE AHE 2
e P
ot gy HI 2
=] HE X E X ES| A
S - 32 - 40
o= - 7 13 - 20
=5 - 44 - - 44
gEA - 18 2 - 20
INPNES - - 7 - 7
FSESES] - 3 - 7
o 0 74 - 7 11 - 18
FudA 2 53 7 - 62
2y 21 3 - 25
<H 1-8> otdg E-4YXE HE s
— +2(m)
otE = (KI :.') A= sle= Hoesz | HEHER 5]l
(m) (m) 20l(m)
=4d4d RPN 0+791 3.9 5.6 12.5 I E=PN|
M2 X3 2+393 1.2 7.3 17.4 EXI
tsE 2+529 1.5 4.9 11.8 EXI
NI PN 3+212 1.5 22.1 17.3 EXI
NI PNE 3+529 1.6 4.1 141 EXI
NIE PN 3+966 4.7 27.4 18.0 EX
NP 4+540 1.4 2.1 13.7 EX
N7 xtE 4+806 1.2 10.9 18.3 EX
NP 4+937 1.5 2.4 16.6 EX
M9 xt= 5+224 1.3 2.8 25.4 EXI
10 XS 5+387 1.6 3.7 11.6 EXI
SRR PNES, 5+439 1.3 2.8 21.3 EXI
M2 Xt= 5+790 1.0 2.5 18.4 & Xl
H13 xS 6+567 1.7 2.5 18.5 EX
H14< 3= 6+595 2.0 2.6 11.5 EX
H15 xS 6+721 1.6 2.5 16.8 EX
H16 xS 6+755 1.4 3.1 14.9 EX

_14_



MY R NTYARAY SEUENY MTYIBHIN(EY)

(X Az
. 72(m)
oy rxed &;) A= sie= logsz | HENER I3
(m) (m) 20l(m)

=44 17Xt S 6+868 1.9 2.6 17.9 =Xl
H18=xtE 6+889 1.4 3.8 20.4 =Xl
H19% Xt = 7+98 1.2 3.9 17.4 A X
H20% Xt = 7+330 1.4 3.0 20.4 =Xl
H21 xS 7+490 1.3 2.3 28.2 =Xl
M22< xS 7+497 1.6 2.5 9.6 =X
M23< xS 7+594 1.4 2.4 20.7 =Xl
M24< xS 7+698 1.4 2.4 25.9 =Xl
M25< xS 7+794 1.5 2.6 27.7 =Xl
H26= xtE 7+898 1.6 2.4 17.6 I E=PN|
H27<xtE 7+988 1.2 2.0 13.4 I E=PN|
H28% Xt = 8+340 1.5 2.9 19.6 =Xl
H29% Xt = 8+512 1.4 2.2 18.9 W E=PN|
SISO XA 8+603 1.4 2.2 12.5 MEX
M3 RS 8+693 1.3 2.4 8.6 =X
M32< xS 8+727 1.3 2.1 11.0 =Xl
MBI RS 8+773 1.3 2.5 10.2 =Xl
NIRZAEPNES 8+816 1.3 2.5 10.2 =Xl
NIREEPNES 8+924 1.3 2.4 10.6 =Xl
NIRICEPNES 8+982 1.2 1.9 15.1 =Xl
M7= xS 9+505 1.1 2.0 12.8 =Xl
M38E XS 9+569 1.0 1.6 9.9 =X
M3 XS 9+703 1.4 2.0 9.7 MEX

2=2H IR PNE 0+399 2.4 5.9 12.0 =X
M2 X3 0+594 1.7 14.3 18.8 =X
NIKE SN 0+782 1.6 5.7 20.8 EXI
NI ONEE 1499 1.2 4.3 12.5 =Xl
NI ONE 1+176 1.2 2.3 13.0 EXI
NI ONE 14597 1.6 2.4 25.5 EXI
M7X3 1+703 1.8 2.5 26.3 =X
M8 XtE 1+782 1.2 3.4 17.9 =X
SIS PN 2+210 1.5 11.5 22.2 =X

_15_




MY R NTYARAY SEUENY MTYIBHIN(EY)

(& A=)
. 2(m)
ote & 2E2Y &;) A= sle= Hogsz | AR I
(m) (m) Z0l(m)
= H10E xS 5+540 1.2 2.4 26.7 & Xl
NI R R PN 5+826 1.4 3.5 24.2 ZEX
M12< xS 6+177 1.4 3.6 22.2 ZEX
H13 xS 6+357 1.4 2.2 19.4 IE=PN|
H14< 3= 6+772 1.0 2.0 18.2 IE=PN|
NREPNES 6+866 1.4 2.2 15.0 IE=DN|
NRCEPNES 6+971 1.4 2.2 14.9 IE=PN|
M17< XS 7+163 1.7 8.1 211 ZEX
M18< Xt = 7+295 1.8 4.4 15.3 & Xl
M19 Xt = 7+416 1.3 2.0 26.2 I E=PN
M20< Xt = 7+686 2.1 3.3 211 ZEX
=RSES| RPN 0+133 5.4 14.8 28.9 I E=PN|
PPN 1+470 2.9 10.9 30.5 I E=PN|
N3 XS 1+988 2.4 14.5 25.4 I E=PN|
N ONEE 3+388 2.1 3.3 24.8 I E=DN|
2H1E 5+430 2.4 24.3 29.8 & Xl
NI ONEE 6+586 2.6 4.0 34.4 I E=PN
2H2e 7+835 2.3 3.7 35.8 I E=PN
NI ONEE 10+032 2.1 3.3 26.7 & Xl
A3 10+288 2.2 3.8 33.5 IE=PN|
N4 10+826 1.7 2.9 15.6 IE=DN|
N5 11+394 1.7 3.1 16.1 IE=DN|
N6 11+546 2.2 3.2 12.1 IE=PN|
M7 X3 12+165 2.2 3.4 27.3 I E=PN
NI ONEE 12+726 3.3 4.3 27.8 I E=PN
NI ONEE 13+029 2.5 3.7 31.3 & Xl
M10= XS 13+284 3.2 4.4 28.0 I E=PN
NRREEONES 13+363 2.4 4.3 24.7 IE=PN|
TS 13+795 2.1 3.6 21.5 IE=PN|
K124 xS 14+014 2.0 3.7 30.4 IE=PN|
2N8E 14+389 1.2 3.2 271 IE=DN|
Mo 14+761 1.8 2.9 15.0 MHAX
M13 xS 15+131 2.1 2.8 20.2 I E=PN
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MY R NTYARAY SEUENY MTYIBHIN(EY)

(2 A=
. 2(m)
ot ™ 2E2Y (ﬁoc") A= sle= iotgsz | HEHR I
(m) (m) Z0l(m)
BHA H14< XS 15+390 1.0 2.7 35.9 MAX
M15 XS 15+569 1.7 3.0 22.2 I E=PN
M16= xS 15+774 1.6 3.1 28.1 I E=PN
K174 XS 15+938 2.4 3.1 31.8 IE=PN|
K184 XS 16+204 2.0 3.5 38.7 IE=PN|
2H102 16+270 2.2 3.2 20.3 I E=DN|
gH11E 16+544 1.0 3.6 39.7 I E=DN|
M19 Xt = 16+707 2.4 2.9 28.6 I E=PN
M20< Xt = 16+812 1.7 2.5 26.6 I E=PN
M21< xS 16+869 1.7 2.5 251 I E=PN
o128 16+942 1.3 2.5 14.5 I E=PN
H22< xS 17+013 1.4 2.1 18.8 IE=PN|
N23< xS 17+096 1.5 2.3 19.6 IE=PN|
N24< xS 17+188 1.5 2.3 19.6 IE=PN|
H25< xS 17+220 1.5 2.3 6.7 HE X
N26< Xt = 17+288 1.5 2.3 22.8 & Xl
M27< xS 17+419 1.6 2.4 27.2 I E=PN
28 Xt = 17+491 1.5 2.3 29.6 I E=PN
2d138 17+620 1.4 2.9 21.2 I E=PN
H29< Xt = 17+696 1.6 2.4 23.5 IE=PN|
K30 XS 17+846 1.9 3.5 28.8 I E=DN|
K31 XS 17+868 2.6 3.1 13.5 IE=PN|
g&d M1 X2 0+452 1.7 2.6 25.4 I E=PN|
M2 X3 0+809 1.6 2.6 26.8 I E=PN
NI ONEE 0+963 1.7 2.6 36.3 MAX
NIGEEONEE 1+274 1.7 2.7 29.4 & Xl
NI ONEE 1+764 1.5 5.7 35.5 MHAX
N[ PNEE 1+948 1.3 2.1 18.8 I E=PN|
M7 X3 2+115 1.6 4.6 23.1 I E=PN|
NP 2+411 1.2 8.4 25.8 I E=PN|
N[N 3+518 1.3 2.1 30.1 I E=PN|
M10= XS 3+705 1.4 2.2 21.6 I E=PN
M1 XS 3+838 1.3 2.7 22.7 ZEX
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MY R NTYARAY SEUENY MTYIBHIN(EY)

H A=)

o 2(m)
ot ™ 2E2Y (ﬁ D) A= sle= Hogsz | AR I
(m) (m) Z0l(m)
HEH H124 xS 3+955 1.6 3.0 16.3 ZEX
M13 xS 4+183 1.5 3.0 29.9 I E=PN
M14< XS 4+367 1.5 3.0 22.8 I E=PN
H15 xS 4+848 1.4 6.0 29.3 IE=PN|
H16 xS 4+987 1.4 2.7 15.8 IE=PN|
N7 S 5+157 0.7 2.3 20.0 IE=DN|
K184 XS 5+203 1.0 2.0 16.7 IE=PN|
M19 Xt = 5+261 1.1 2.0 17.9 I E=PN
M20< Xt = 5+294 2.3 3.0 21.3 I E=PN
MAIE MAE 1+938 2.2 3.8 17.8 ZEX
MAI2E 2+582 2.0 3.6 11.5 ZEX
AN AIBE 3+882 0.9 3.2 20.1 EX
MNAI4E 5+578 0.7 3.3 23.4 EX
MNAISE 6+678 1.6 3.3 16.1 EX
MNAIBE 7+916 1.4 3.4 17.5 EX
MAITE 8+414 1.6 3.0 1.7 ZEX
d2d 212 0+034 1.4 2.8 15.1 ZEX
M1 X3 0+899 1.4 2.8 14.7 I E=PN
228 1+367 1.6 3.1 19.9 ZEX
=232 1+900 1.7 3.3 30.0 IE=PN|
242 2+363 1.7 3.5 20.0 IE=DN|
=258 2+715 1.5 3.2 27.2 IE=PN|
=262 2+803 1.4 2.6 19.7 EX
258 2+714 2.3 3.5 27.4 I E=PN
262 2+802 1.4 2.7 19.9 I E=PN
oA M1 RE 0+439 1.4 2.5 16.0 ZEX
M2 X3 0+544 1.8 2.8 19.5 MHAX
HIB XS 0+630 1.8 2.5 13.1 EX
N ONEE 0+671 1.6 4.0 12.7 EX
NSE PN 0+703 1.9 4.2 17.3 EX
N[N 0+746 1.9 6.3 19.9 EX
M7 X3 0+770 1.7 2.6 16.1 ZEX
NI ONEE 1+017 1.8 2.7 11.9 ZEX
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MY R NTYARAY SEUENY MTYIBHIN(EY)

(2 A%
. 72(m)
oy rxed &;) A= sie= logsz | HENER I3
(m) (m) 20l(m)
A SIS PNET 1+167 2.1 5.2 0.0 =X
M0 XS 1+280 2.0 3.0 15.5 =Xl
SRR PN, 1+997 1.3 3.2 9.6 I F=DN
M2 xS 2+273 1.3 2.1 13.9 & X
H13 xS 2+409 1.0 2.0 18.6 I E=PN|
H14< xS 2+426 1.2 1.9 7.9 & X
ELRC N ICE] 2+650 1.1 1.8 5.7 =X
SRS PN, 2+673 1.0 1.9 8.9 =Xl
SR PN, 3+103 1.3 2.0 10.1 MEX
M7 XS 3+414 1.0 5.0 6.3 MEX
FuA FUHTHEE 4+775 3.4 4.4 19.2 =Xl
PNl 4+807 3.2 4.0 20.4 EXI
=AdEE 5+092 1.0 3.5 13.2 =X
FulE 7+630 1.9 2.9 16.6 & X
Fu2s 8+280 2.2 2.9 46.4 & X
F 3% 8+574 1.8 2.5 32.0 M X
Fu4s 9+500 1.5 2.5 47.6 MEX
Fub8 10+367 3.1 3.9 25.3 =X
S0 H=2 10+500 1.5 2.9 55.1 MEX
Lot H =2 10+921 1.9 2.8 40.1 & X
SRO0IF =2 11+237 2.2 2.8 40.2 I E=PN|
2el4F=2 11+721 0.6 1.8 44.9 I E=PN|
2gel3F=E 114925 2.0 3.1 41.8 E=PN|
s R 12+230 2.7 3.2 22.5 =X
2del2F 2 12+537 1.4 2.1 26.1 MEX
212 12+687 2.7 41 34.6 M X
s2F =2 13+003 2.3 3.1 13.9 MEX
LA F =2 13+410 1.6 3.0 26.3 & X
ZFeI3F T2 13+721 1.5 2.9 471 E=PN|
Fgel2x+=2 13+877 2.2 3.4 14.2 E=PN|
SYOLF =2 13+982 2.3 3.1 17.8 & X
AAOTFH 2 14+100 2.3 2.8 16.4 MEX
US0ld+=2 14+348 2.3 3.0 23.0 MEX
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MY R NTYARAY SEUENY MTYIBHIN(EY)

(2 A=
o 2(m)
ot ™ 2E2Y (ﬁoc") A= sle= iotgsz | HEHR I
(m) (m) Z0l(m)

FuwHd EeFHE 14+613 2.3 2.9 33.0 I E=PN
FgelFs= 14+819 2.3 2.7 18.2 I E=PN
IS0 F ==L 14+920 2.3 2.7 6.3 MHAX

HAF L2 15+233 2.3 3.0 23.2 IE=DN|
SAHF==2 15+589 3.1 3.7 29.4 IE=DN|
=62 15+626 1.6 2.5 35.9 =D
Fure 15+648 2.4 2.9 20.7 IE=PN|
=2 15+784 2.3 2.9 31.0 I E=PN
AAHOI2F =2 15+879 2.3 2.8 17.5 I E=PN
dsF+E 16+317 2.2 2.8 25.7 I E=PN
el =2 16+579 2.2 2.7 33.2 I E=PN
=7+ 16+832 2.0 3.2 1.3 EX
f=cleFH+E 16+968 2.0 3.1 30.5 =Dl
f=e5FH+E 17+406 2.5 3.4 16.1 I E=PN|
f=cl4FH =L 17+620 2.6 3.2 32.8 I E=PN|
=g 17+815 1.7 2.0 12.7 ZEX
f=cl3F=E 18+034 1.4 2.4 13.4 I E=PN
==L 18+371 2.3 3.3 14.5 I E=PN
FuW3H IS 18+420 1.7 2.5 23.1 & X
T4 S 18+549 1.6 3.3 43.3 IE=PN|
FW5HIE 18+617 3.9 5.5 38.0 IE=PN|
TS 18+661 3.6 4.5 37.2 IE=PN|
FU7THIS 18+704 2.6 4.1 43.1 IE=PN|
Fu8H IS 18+727 3.8 4.8 32.2 I E=PN
FWIH IS 18+769 3.9 5.0 35.5 I E=PN
FW10E XS 18+823 4.4 5.8 41.2 I E=PN
FWIEXE 18+849 4.1 5.0 38.0 I E=PN
FU124 X3 18+880 3.3 4.6 39.3 I E=DN|
FW139 XS 18+925 3.8 4.8 37.0 I E=DN|
FW149 XS 18+959 2.9 4.6 41.4 I E=DN|
FW15EXE 18+964 3.7 4.6 34.2 I E=DN|
FW16E XS 19+043 3.2 3.9 37.3 I E=PN
FWI7EXE 19+089 2.6 4.2 441 I E=PN
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MY R NTYARAY SEUENY MTYIBHIN(EY)

o 72(m)
sta e (No) Moo= ste= | giemEs3 | A0S | Bl
(m) (m) 20l(m)

=Sk 19+125 3.7 6.5 435 TH &
19+155 3.8 4.7 35.0 TH &
19+185 3.7 4.7 48.2 TH &
19+282 1.8 2.4 23.4 TH & X
19+372 1.2 2.1 28.0 TH &
19+429 0.5 0.8 30.4 T

HEY 3+008 4.4 4.9 23.0 =5
4+549 3.6 4.4 19.6 TH & X
6+620 1.0 4.0 30.2 TH &
6+922 3.5 4.2 25.0 TH & X
6+981 2.2 2.9 52.9 TH &
8+370 3.6 4.2 45.0 TH & X
9+107 3.2 4.1 31.9 TH &
10+503 2.1 3.0 21.2 TH & X
11+307 1.7 3.1 24.0 TH &
11+839 2.2 3.0 35.2 TH &
12+347 2.4 3.3 30.2 =1
12+877 2.1 3.2 19.2 TH &
13+657 2.5 4.4 21.2 TH & X
14+932 3.5 4.7 34.6 TH &
15+379 2.7 4.4 20.7 TH & X
15+697 2.8 3.9 20.9 TH &
16+943 2.0 3.3 30.6 TH & X
17+491 2.9 4.4 27.2 TH &
17+645 3.1 4.2 29.4 TH & X
17+730 2.9 3.3 17.6 TH &
18+576 0.8 1.9 24.1 TH &
19+113 3.4 4.9 30.2 TH & X
20+100 3.1 4.0 30.3 TH &
20+267 2.8 4.3 18.7 =5
20+428 2.6 4.6 15.4 =5
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MY R NTYARAY SEUENY MTYIBHIN(EY)

<E 1-10> steg Dy N %
- =5 |[Hasag| U8 28 W M) ]
sty Dy o) Cm oz Tooalaag| 1907 | 82
=43 20 0+000 52.83 149 | 54.33 15 =Xl
Olatw 0+587 52.87 72 54.37 15 EXI
CHE1w 1+031 52.95 77 54.45 15 =Xl
CHE W 2+000 53.28 60 54.78 15 & Xl
2w 2+200 53.62 62 55.12 15 EXI
JIXt0tS W 2+380 53.86 68 54.66 15 EXI
oW 2+413 54.4 65 55.2 15 =Xl
231 2+500 54.43 60 55.23 15 =Xl
=Em! 3+045 56.05 | 62 |56.85| 15 =5
Q32w 3+392 56.67 59 57.47 15 =N
HED 4+865 6438 | 40 |65.18| 15 | M
o 2 5+509 7019 | 36 [7099| 15 | Tax
291D 6+158 7469 | 30 |75.49| 15 =5
Sgiom 6+626 7821 | 30 |79.01| 15 =3
°=n 7+119 8467 | 30 |8547| 15 | Max
293D 7+455 8877 | 25 |89.37| 125 | =X
294D 8+100 98.77 | 24 |99.37| 125 | m&x
295D 8+640 109.34 | 17 [109.94| 125 | =X
296D 8+989 118.02 | 13 |118.62| 125 | T&x
BOXZ 9+154 120.75 | 16 [121.35| 12.5 | T&x
M1AE D 9+779 141.41 10 |142.01| 12.5 ME X
= ESE=E=m 0+000 52.81 119 | 54.31 15 =Xl
X1 0+249 52.81 112 | 54.31 15 & Xl
M1EEw 0+291 52.81 100 | 54.31 15 & X
M2E8 =W 0+370 52.81 94 54.31 15 & X
s 0+412 52.82 90 54.32 15 EXI
=& 0+722 54.42 83 55.22 15 EXI
ke i 0+960 56.34 65 57.14 15 EXI
S ok 14713 64 50 64.8 15 & X
Ol &tw 2+683 76.64 60 77.44 15 EXI

_23_



MY R NTYARAY SEUENY MTYIBHIN(EY)

=y | HEspe | W AR WE M) ]

DYy o) em oz Tooalaag| 1907 | 82
Dl&k2 3+100 83.35 | 35 [84.15| 15 =3
Y1 3+339 846 | 30 | 8.4 | 125 | m&x
E=u 3+396 84.96 23 85.76 | 12.5 ZEX
S 3+544 | 105.87 | 16 |106.67| 12.5 | =X
FH1D 5+113 115.09 | 35 [11589| 15 | W&
fd3u 5+687 116.5 35 117.3 | 12,5 MEX
S 5+961 121.79 | 85 |12259| 125 | M&x
%41 2 6+213 128.44 | 22 [129.04| 125 | M&x
fd3u 6+507 116.5 35 117.1 | 125 MEX
41 6+649 140.04 | 22 |140.64| 125 | H&X
%51 6+963 147.65 | 22 |148.25| 125 | M&x
MMl 7+374 1569.02 22 |159.62| 12.5 MEX
HI2H 2 7+476 163 22 1636 | 125 | T&x
61 7+816 198.1 8 |1987| 125 | =&
fd7u 8+112 200.49 24 1201.09] 125 ZEX
BHH g2n 0+141 33.05 | 115 |3505| 20 | m&x
SRHECRD 0+732 3311 | 115 | 3528 20 =3
EMI 1+332 33.31 115 | 36.18 20 W E=PN
A1 M2 D 2+275 3627 | 110 |3765| 20 | W&x
R 3+042 38.68 | 105 |4063| 20 | T&x
E2ME 3+551 41.93 95 43.42 20 ZEX
TEED 3+584 42.08 | 68 |4381 | 20 =3
yREl=m] 5+259 4872 | 93 | 5111 20 =3
LH = 1) 5+400 49.25 100 | 51.76 20 W E=PN
24D 6+200 5227 | 90 |5539| 20 | M&x
M2E T 6+778 55.94 90 57.97 20 EX
AT 7+218 57.12 98 59.36 20 & X
e 8+162 63.24 | 8 |6468| 20 | THEX
123D 9+411 67.88 | 90 |7087| 20 | TEx
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MY R NTYARAY SEUENY MTYIBHIN(EY)

. =5 |Hasag| H¥ 22 WA (M) .
Sha DYy o) cm oz Tomaaag] 1907 | 82
S PSES] S 10+429 74.62 72 76.61 20 MA X
M3EED 114251 78.67 | 60 |80.55| 20 =3
8 %] @ 11+406 8177 | 60 [82.02| 20 | Tax
BHOF W 11+469 81.77 60 82.29 20 =X
oD 114897 83.44 | 55 |8535| 15 | M&x
=1 12+265 85.9 55 87.02 15 TH& X
ojaD 13+341 96.78 | 50 |100.06| 125 | mW&x
H2AHE 14+490 106.35 45 108.73 15 THA X
R 154213 | 113.74 | 45 |115.04| 125 | max
S& W 15+687 117.94 40 119.25| 12.5 MA X
Hm D 16+155 | 122.08 | 40 |123.1| 125 | max
grA 16+596 129.45 30 130.59| 12.5 MA X
) 164936 | 13549 | 30 |136.62| 125 | MW&x
FH31 17+376 145.56 25 147.16| 12.5 JVE=DN|
g=d HAIME W 0+552 80.78 50 81.58 20 TH& X
2D 14709 92.88 | 48 |93.68| 125 | max
=31 2+130 97.4 45 98.2 15 MA X
M2 S D 2+419 100.5 | 45 |101.3| 125 | WX
HI3AE 1 2+932 107.23 35 108.03| 12.5 MA X
5D 3+297 111.42 | 28 [112.22] 125 | THax
sSa1 3+769 11717 0 117.97| 12.5 TH& X
4K S D 44517 13457 | 25 [135.37] 12.5 | Kax
H5ME 1 4+642 137.81 25 138.61| 12.5 MA X
e} 5+137 150.19 | 19 [150.79] 12.5 | K&
HEME 5+591 160.68 15 161.28| 12.5 MA X
R 5+754 168.53 | 10 [169.13| 12.5 | &
M AIE (A)MAID 0+528 20.24 | 136 |31.24| 35 Al
AAITLI 0+748 29.29 144 | 31.29 20 TH A X
MAID 1+028 2037 | 150 |31.37| 20 | max
eIl 1+575 29.51 158 31.51 20 A X
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MY R NTYARAY SEUENY MTYIBHIN(EY)

=y | HEspe | W AR WE M) ]
(No.) (EL.m) & | e D | TR AR o2
2+056 29.85 | 150 |31.75| 20 =3
3+147 3163 | 125 |3283| 20 | X&x
4+016 3487 | 132 |3587| 20 =3
5+958 42.36 | 193 | 4336 20 =3
7+523 4974 | 96 |50.74| 20 | T
9+678 64.77 | 108 | 65.77 | 20 =Bl
9+696 6488 | 105 |6588| 20 | TH&x
dew 0+010 50.11 | 82 |51.11| 15 | T&x
0+140 5123 | 31 |5203| 15 | M&x
0+254 5168 | 36 |5248| 15 | TH&x
0+437 51.82 | 27 |5262| 125 | M&x
0+800 53.81 | 26 |54.61| 125 | THEX
1+128 56.58 | 28 |57.38| 125 | TH&x
2+320 8023 | 26 |81.03| 125 | M&x
2+474 83.93 | 26 |8473| 125 | TaX
2+648 89.11 | 24 |89.91| 125 | X
3+119 11128 | 20 [112.08| 125 | TH&x
401 & 0+016 2957 | 21 |31.57| 125 | T&x
0+079 2957 | 16 |31.57| 125 | TH&X
0+300 3099 | 23 |31.59| 125 | T&x
0+400 3225 | 17 |32.85| 125 | TH&X
0+428 33.1 15 | 337 | 125 | m&x
0+559 36.3 14 | 369 | 125 | Max
0+615 3713 | 13 |87.73| 125 | T&X
0+706 3811 | 15 [3871| 125 | Tax
0+759 39.33 | 13 |39.93| 125 | TH&X
0+949 4176 | 10 |4236| 125 | as
1+024 43.87 | 12 | 4447|125 | T&X
14072 4407 | 18 | 4467 | 125 | THEx
14347 4882 | 20 |49.42| 125 | THax
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MY R NTYARAY SEUENY MTYIBHIN(EY)

_ =3 |yassg| 2 22 W2 (M) .

oh& D2y o) cm oz Tomaaag] 1907 | 82

AR f950 1+509 56.16 7 56.76 | 12.5 =X

M1AED 1+908 7094 | 16 |71.54| 125 | WM&

D 2+400 86.25 | 16 |86.85| 125 | M&x

H2AM & W 3+087 119.3 16 119.9 | 125 A X

ANED 3+500 142.91 | 19 |143.51| 12.5 | m&x|

f971 3+872 171.81 10 172.41| 12.5 =l

gD 3+976 189.22 | 10 |189.82| 125 | M&x

Fud ESmPS | 0+005 417 191 6.2 20 =X

e o5 2+748 529 | 105 | 63 | 20 | Tax

i FSam) 5+179 7.62 69 8.6 20 MA X

=DAIELD 6+454 8.79 63 | - - T x|

AlDSHW 6+879 9.35 64 10.4 20 THA X

HED 7+900 1280 | 58 | 13.9 | 20 | m&x

Hun 8+740 15.15 62 16.2 20 TH & X

FuUN2&E+0 9+085 16.66 54 - - TH& X

oD 9+366 1726 | 50 | 183 | 20 | W&x

Yl 9+616 18.49 53 19.5 20 TH& X

=012 10+469 2146 | 43 | 225 | 20 | WM&

&t 10+759 22.96 48 23.8 15.0 MA X

=00D 11+214 2552 | 48 | 263 | 15.0 | WM&

XL 11+482 26.00 46 26.8 15.0 A X

=130 11+682 2629 | 40 | 27.1 | 150 | WM&

ESNnyami 12+000 30.26 35 31.1 15.0 MA X

=DHIEAD 124221 3186 | 87 | - - =5

=i 12+471 33.83 34 34.6 15.0 A X

) 13+067 4047 | 44 | 413 | 150 | mMax

=MD 13+800 4410 | 41 | 449 | 150 | mMax

ALARDR 13+993 47.04 41 47.8 15.0 A X

stxerom 14+591 50.47 | 40 | 513 | 150 | mM&x

ot& W 14+935 53.74 40 54.5 15.0 A X
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MY R NTYARAY SEUENY MTYIBHIN(EY)

. =5 |Husae| 2 22 W2 M) _

St g o) em oz Tooalaag| 1907 | 82

FuWA mi 15+467 57.18 40 58.0 15.0 TH& X

2 15+770 60.37 | 41 | 612 | 125 | Mex

2 16+000 62.33 | 30 | 63.1 | 125 | M&xX

1erA W 16+214 63.85 30 64.7 12.5 A X

16+609 7142 | 32 | 722 | 125 | WeEx
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